CS1006

2002/3/25

Programming Assignment 4

Due before 17:00, Friday, March 29, 2002

Note: You need to COMPLETELY follow the instructions in this sheet.

Problem description

In this assignment, you are requested to write a program that implements the “probability board” toy, shown in the following diagram. The toy works as follows. You start by dropping a marble in the hole at the top. The marble falls down and hits the uppermost peg, indicated by the small circle in the diagram. The marble bounces off the peg and falls, with equal probability, to the left or right. Whichever way it goes, it then hits a peg on the second level and bounces again, one direction or the other. The process continues until the marble passes all nine-level of pegs and drops into one of the 10 channels at the bottom. For example, the colored line in the diagram shows one possible path for the marble:










Your program should simulate the operation of dropping 50 marbles into the toy. Your program should display its results pictorially using histogram. A sample of the output of this program is as follows:

<<This program simulates the probability board toy>>
Do you like to play (Y/N) ? Y

 1 | *****

 2 | *****

 3 | *****

 4 | *****

 5 | *****

 6 | *****

 7 | *****

 8 | *****

 9 | *****

10 | *****

Do you like to play (Y/N)? N

Press any key to continue


Documenting your program
You should use comments and spaces to document your program as suggested in the class. Refer to “Program Comment Format” on course homepage for more details.

Handing in your program 

You should turn in all the files you use except for those functions declared in the standard libraries of C. You should turn in your program before the due time from the turnin server of the department. Refer to “Program Turnin Procedure” on course homepage for more details. The assignment-name (作業目錄) for this assignment is cs1006X.prog4, where X is your group name.

Grading

The grading is based on the correctness of your program and the readability of your program. The correctness will be determined by a number of testing data.
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